5250 AR IRV K ma—%

FELRIS VT 757 2024/3/25
TEGRL [TE A% OUT [IN [FBX [HD vk
1[5 R 38] 37 75| 0.0  75.0
2[EmA Ak 14] 16 90| 14.4]  75.6
VA TR 45| 44 89] 13.2] 75.8
4|2 K H=R 19] 46 o5[ 19.2]  75.8
5[HR IEFD 45| 43 88] 12.0 76.0
NS 511 47 98] 21.6]  76.4
ERN RS 40] 44 84 7.2] 768
8| HHZZ 47] 48 o5[ 18.0]  77.0
IS 49] 46 95| 18.0]  77.0
10{ % iw  —BR 16] 41 87| 9.6] 774
1= F# 51] 47 98] 20.4]  77.6
A 50 42 92| 14.4]  77.6
13| F el 47] 50 97] 19.2 77.8
14[ (=% BG 47] 44 91] 13.2]  77.8
15[k B 50[ 53 103] 25.2]  77.8
16[{PA 2% 49] 48 97] 19.2 77.8
17[ 10 &5 51] 52 103[ 25.2]  77.8
18[ff 1 B K 39] 46 85| 7.2 778
197k HIJE 10 44 84| 6.0  78.0
20| 1 miAT 511 44 95| 16.8]  78.2
21{FH & 49] 46 95] 16.8 78.2
22|y 3520 51| 44 o5 16.8]  78.2
23 AL A 511 48 99] 20.4]  78.6
24|91 B 49] 49 098] 19.2]  78.8
25[ % Fash 50 47 97] 18.0 79.0
26| liilm T8 42] 49 91] 12.0] 79.0
ENEE YN 55] 48 103[ 24.0]  79.0
28R — 52| 45 97[ 18.0]  79.0
29[\ R O 54| 49 103] 24.0 79.0
30| 5% MESD 43] 53 96] 16.8]  79.2
S[IUA Iy 50] 51 101 21.6]  79.4
32|1EAE Rl 47] 47 94| 14.4]  79.6
KR EATTIE S 51] 49 100] 20.4]  79.6
34411 G 49[ 56 105 25.2]  79.8
35 KT B 48] 57 105 25.2]  79.8
36[ K71 FHH 42| 45 87| 7.2 79.8
RN ENEEES 49] 49 98] 18.0 80.0
3B A FE— 48] 49 97 16.8]  80.2
39[/MAK I 51] 52 103] 22.8 80.2
40|75 %E FHin 45 52 97] 16.8 80.2
MBS 51] 50 101] 20.4 80.6
I ESIED 49| 51 100] 19.2]  80.8
A3|FFE (B 50| 54 104] 22.8]  81.2
4| B 42] 50 92[10.8]  81.2
45| 5 Bt 50| 48 08 16.8]  81.2
R 53] 50 103 21.6] 81.4
NI 18] 48 o6[ 14.4]  81.6
48|/ 47| 43 90| 8.4 8.6
49| K B 48] 53 101] 19.2]  81.8
50| e Jose 47] 53 100] 18.0]  82.0
515kl =P 57] 61 118] 36.0]  82.0
52|85 M AL 51| 49 100] 18.0]  82.0
53R mp 53] 53 106] 24.0]  82.0
54| E L BEA 59| 58 117] 34.8]  82.2
55| T & EC 48] 45 93] 10.8]  82.2
56| %4 HE 51| 52 103] 20.4]  82.6
57458 A 52| 56 108] 25.2]  82.8
58|AH TEY 57| 51 108] 25.2]  82.8




59| B FRZ 49] 52 101] 18.0]  83.0
60| FIR{E IE 49[ 52 101] 18.0]  83.0
614 H HhE 56| 50 106] 22.8]  83.2
62|t —& 53] 53 106] 22.8]  83.2
63[TIA 1T\ Z 51| 55 106] 22.8]  83.2
64| H K 49| 51 100] 16.8]  83.2
65 1A B 56| 50 106] 22.8]  83.2
66|75 /E FniE 47 53 100] 16.8]  83.2
67| =% BT 56 55 111] 27.6] 83.4
68]/ME B RS 56| 55 111] 27.6] 83.4
69[mi)Il 1& 54] 57 111 27.6]  83.4
N ERSIA 19] 50 99] 15.6] 83.4
A S 49] 49 98] 14.4]  83.6
AESTIE 55] 48 103[ 19.2]  83.8
73| iRy K 53] 50 103] 19.2]  83.8
T4 A T5 A 56| 58 114] 30.0]  84.0
JREGIREES 51] 45 96] 12.0]  84.0
76| < HHE B 54| 47 101 16.8]  84.2
77| K4 e 56| 51 107] 22.8]  84.2
18|25 15 52] 49 101 16.8] 84.2
19 1 55] 56 111] 26.4]  84.6
80[ /NI FnE 53] 58 111] 26.4]  84.6
81| 185 54] 50 104] 19.2]  84.8
82| & 2 50[ 59 109] 24.0]  85.0
83| 1k A1 60| 49 109] 24.0]  85.0
84(&Y ik 55| 54 109] 24.0 85.0
855l Hr— 48] 58 106] 20.4]  85.6
86| — V— 58] 60 118] 32.4]  85.6
87|ME i 54] 57 111 25.2]  85.8
88|k B 54] 57 111 25.2]  85.8
89[VEAR Jkih 51| 59 110] 24.0]  86.0
90| Ha 60| 55 115] 28.8]  86.2
R EER 60] 55 115 28.8]  86.2
92IIF FHiE 54] 60 114] 27.6]  86.4
93|FHEN IFE 61] 52 113[ 26.4]  86.6
T I 49] 52 101] 14.4 86.6
95| )\ K v ) 49| 51 100] 13.2]  86.8
96{im H A&Fn 55| 57 112] 25.2 86.8
97|10 HESE 51| 61 112[ 24.0]  88.0
98| IHIER 56| 55 111] 22.8]  88.2
99[3. A IEA 61| 61 122[33.6]  88.4
100 k&% J2i& 53| 57 110f 21.6]  88.4
101 [#A I $F— 59 57 116] 26.4]  89.6
102| &8 fi— 58] 62 120] 30.0 90.0
103 F5 4t 64| 56 120] 30.0 90.0
104 B & 4 58] 62 120] 27.6]  92.4
105] [ A 5L 59| 64 123]30.0]  93.0
106k Fofl 64| 66 130[ 36.0]  94.0
G 66] 60 126] 31.2 94.8
108 [l A 1 60] 69 129 32.4]  96.6
109| N E— 63[ 67 130] 31.2]  98.8
110[IAAR FK 63| 66 134[ 34.8]  99.2
TR A 70| 67 137] 36.0] 101.0




